(1) 1£51

(2) FE#p

(3) Z2HEH

(4) RBFE

BERe
HAM: 201948180 ~20204£3H831H

7 — R B

B4R #1 _ _ HWERZIZIEZEN _
LS i ‘A it ;] = it
1339 1043 49 2431 1552 1168 2720
55% 43% 2% 100%

=
RES 29 [N = 2431+ 2720=0.8937
[ ERE=389.4% |
EEHE
S g
M EREE
20X | 30mkAX | 40kt | 504t | 60%it | 70&kit | EEEZ 7
3 177 760 857 452 134 48 2431
0% 7% 31% 35% 19% 6% 2% 100%
4 (O] 25 .
oge 208 i
6% - - 7% w205
H30% 1t
M40
H50i% 1t
60/ 1%
H707:% 1%
B ERNE

BECIT | AN-RiE [BZHBEED . . B pos —

N A = 5 R—LR— | ARNVNOF | HIAAGEL | R THEE

RBLILS| DO | BECEL Togmc | sveRT | hs | Shins| TP
1852 150 128 38 2 624 257 84
59% 5% 4% 1% 0% 20% 8% 3%

204 =
S TIEE-- - [<§§?ﬂm0)§mmﬁ>
BRTASEL Y - — 1. BECITZELTLDMD
ARUMOFFLERT SR
h—LR—SERT 1 <zoi>
BRDYERED - 1. HEARETHRNAS
S 2. BEREABLLLNS
Jaytsny) 3. BANEBERENSZRTEIHS
B ———. \4 BROEEDDASER
0 500 1000 1500 2000
BH NR |BRAE| 49— | #F T | EEE F
30 136 1821 11 157 124 152 2431
1% 6% 75% 1% 6% 5% 6% 100%
W|EE E=
0 INR
Tolgy, 5% L 1% WEE ]

EE a8 N

ﬁ’efy /R <TEFBOZVIE>

a3 —

3 1. 75%
1% ug’%ﬁi EEJ=EA¢ )
MDY —
u S

1/6




(5) — 1 %R #
ERART

(5)—2
ML - kmEPRT

(5)—3

BE | oeEE| C2550 |verE| Fm | mEE | f
1617 627 106 14 2 65 2431
66% 26% 2% 1% 1% 2% 100%
poRE 70 1% MEE 2% EEE ]
Ebbit 1%
ULNZ ALY
4% PR
HELLE
b
LZ 7Y
H PP
BE [P (3N |vers| mw | ®EE | f
1616 622 o 17 0 85 2431
66% 26% 2% 1% 0% 3% 100%
’M’o?ﬁﬁl% i 4 [E] 2 3% EEE
EbbLh
>
el B OO
4% =
HELLE
b
.
a CHR
i
BE |[evmr| 255t |verm| mm | ®EE | 6
1566 638 119 28 5 75 2431
64% 26% 5% 1% 1% 3% 100%
PO A 1% EEE
o 1% ° o [FEE
Ebbet 3%
LNZZRLY
o PR
° 2
MELLE
b
u OB
e
BE | oeEE| f2550 |verE| Fm | mEE | f
1683 608 67 3 0 70 2431
69% 25% 3% 0% 0% 3% 100%
pofE  TH mEE (WL
LHbEY 3%
“;f“ B DT
(o]
MEBBE
%
LE AL
B BRE

2/6




(5)—5
REE

(5)—6
HUF L

(5)—17

EREL
Dyt

BE | veEE| 2t |verE| mm | mEE | 6
1335 695 224 65 12 100 2431
55% 29% 9% 3% 0% 4% 100%
<3 [ &
POTE s 4% i 2
3%
fégi? W POHE <TG T (3%) DEE>
N
9 1. BAIEEITEZES
9% uEBBEL BAEETES
LNZ ALY
PRCRCE 37
RS
BE |ermr| 255t |verm| mm | gEE | 6
1232 690 287 89 19 114 2431
51% 28% 12% 4% 1% 4% 100%
] i [E]feas 0
OO 1% 4% o i 2
o y
EB5EL B OLEE
AV R <ROTRiE - T (5%) DEE >
0, S ~
12% MELLED 1. R RBUNEL
AV A
OO
o i
BE|erER| (250 [verEs| e | EEE | f
1698 517 70 8 2 136 2431
70% 21% 3% 0% 0% 6% 100%
PoAOT T RAE | gzg
— 6%
Ebbe ° .
DEALY O R
3%
HELLEL
AV A
PRCRCE 37
CEN

3/6



(5)—8
EF L DRI

(5)—9
BHEADE

MHErE
5 Bl

(8) FHHEFRIA
BB

FERIAZ

Z0ft

BRE | veEE| 2t |verE| mm | REE | 6
1643 536 106 37 7 102 2431
68% 22% 4% 2% 0% 4% 100%
PORE i e E)
o % -
I 2% o
E .
49% H OO E
HEBLEL
ULNZZRLY
B OOTRE
M R
BE PR (250 [verEs| | ®EE | f
1727 457 96 35 10 106 2431
71% 19% 4% 1% 1% 4% 100%
‘V—"kb*;“lfﬁ% TE 1% E|EZ 49 =
Ebbéd
LR HOOHE
4%
MEBLEL
(AY-#A{A
B OO
o i
A Ei 518 |mMEE B
203 1712 375 137 2427
8% 71% 15% 6% 100%
EdEIP=S
HEL
LB
ML
EEEE
BZ | BR | @5k | BRE | DK | Mgk | W | BXR
244 B B®RE BRE B®RE BRE [ XEgE| &F
10 6 96 20 31 7 25 43
2% 1% 20% 4% 7% 1% 5% 9%
EGEE — 3 BEhA| AEXE | DEAIE
ﬁggﬁ ?ﬁ‘ﬁﬁ[l E?g ?E%A} ?LEE%E /%,;”FEEJ %0)1’["_7,
17 6 144 36 8 30 9
3% 1% 30% 7% 2% 6% 2%
0 20 40 60 80 100 120 140 160
*ﬁé&,}—
BER-
,L\'E'é..._ <ﬁBH§FEﬁ75‘EL\"LE>
- i | R
EX.‘&%'(_ 2. E’é‘;’&*ﬁﬁ
Fin =
FLEXHR - -—

4/6




= -~ — L =
@—1mEMs [xzan| au | 525 | B2 | aon | mmE |
i 1051 937 245 26 2 170 2451
45% 38% 10% 2% 1% 6% 100%
Ty i EIRAS
e Dl =
2%
A5 HEL
u,S\’D5
EHFEY
BN
(9)-2 BB X % 505 | HEY Ay |mEE E
Ei‘ﬂt‘ kzab\ Ell\ fb‘jj E(fd:(l\ E(d\(l\ ln\@I:I =]
{RE2EM 1170 907 142 4 0 208 2431
48% 37% 6% 0% 0% 9% 100%
7‘~\#¥@‘§
HEY E<fb-- | m———
505 .
EEL
H 525
EHEY
Bz
_ ) -
(9)—3 xzre| B | 505 | B2 | aosn | mEs |
FEEm 1198 893 124 5 0 211 2431
49% 37% 5% 0% 0% 9% 100%
HEY--- Ry EME 9% HEXZRL
A0S EEW
5%
lle\’Da
EHFEY
BN
_ T .
(9)—4 AN
Gt ER R Em 1154 898 170 1 0 208 2431
47% 37% 7% 0% 0% 9% 100%
BLAL i E RS
Saeee
HEL
H,S\Oa
EHFEY
B
_ C -
(9)—5 xzre| B | 505 | B2 | aesn | mEE |
ER R IR E R Eh 1163 900 151 2 0 215 2431
48Y% 37% 6% 0% 0% 9% 100%
HEY B o ﬂ@% 9y, —
BB RXERL
505 HEL
6%
IzS\?a
HHEY
B LA

5/6




(9)—6
ZEE

(13) — 124
SROFAFE

(13)—2

AN
Lf:b\&,ﬁa

6/6

- L -
xzae| B | 505 | B2 | aosn | mEs |
1152 884 171 1 0 220 2431
47% 36% 7% 1% 0% 9% 100%
éﬁi‘%\ RZN ®|EE 9% BREEN
1%
525 HEW
7%
M/S\’Da
HEHEY
BGL
CR=ReA Al
Ebinét - -
\ i ALY e =
‘il’ gz-?:;l'\ ll ll K n\\@lzl =]
2133 118 1 179 2431
88% 5% 0% 7% 100%
LVE ERE 7%
EbnEd il
AL i
5% EEBB&"E
EALEWL
~IAYAY-4
HERE
TELED N = | =
B 2350 | VWOA | RES &t
1499 635 23 274 2431
62% 26% 1% 11% 100%
(I
BEBLEL
SAEN
FIAIAY-4
HERE




